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Division 2 8 8§ 8 6 & &8 2|2 s = s 2 & 8 &8 FE |2 8§
Beaver X 18 18 18 14 14 16 18 18 15 18 14 18 18 18 16 18 16
Cambridge 10 X 11 15 12 10 12 11 10 12 8 10 10 7 11 14 7
Carrollton 15 14 X 14 18 18 18 15 14 18 15 18 16 16 15 14 15 18
Claymont Not Seeded
East Liverpool 8 10 14 13 X 13 6 8 12 13 10 6 8 7 12 9 9 6
Edison 5 5 4 3 X 4 4 6 8 5 7 3 6 4 5 5
Indian Creek 13 9 8 9 5 10 X 9 6 9 11 12 9 11 13 12 4 15
Indian Valley 18 16 15 15 10 16 15 X 16 14 14 13 15 15 14 18 16 14
John Glenn 9 12 11 12 4 9 9 11 X 11 13 9 11 9 10 10 12 11
Maysville 11 11 13 10 8 7 12 10 9 X 7 10 13 12 9 13 8 12
Minerva 14 13 12 7 13 11 13 13 13 12 X 15 12 13 11 6 13 10
Morgan 7 7 9 6 11 4 5 7 7 7 4 X 8 5) 7 6 4
Philo 12 8 10 8 9 8 11 14 8 8 9 11 X 8 8 10 9
St Clairsville 4 4 6 4 3 3 3 5 3 4 5 7 X 4 3 3 3
Steubenville Not Seeded
Tri-Valley 3 3 5 2 12 6 8 6 10 5 3 3 5 4 3 X 11 8
West Holmes 16 15 16 16 16 15 14 16 15 16 16 16 14 14 16 15 X 13
Zanesville 6 6 3 5 6 5 7 3 o) 3 6 4 4 5 2 5 X




